:‘Si a‘vmr s Ceﬂege

;»ﬁate‘;m 'Exarﬁinatiqfls 2017

 Full Marks: -40

Pass marks: - 16
Time: 3hrs

«-ga to give their answers in tlzezr own words as far as praclzcable

 Margin indica ate full marks

Group—A

' mass system the KE and PE vary thh time but the total energy

s a7l
2+ 2. 'What do you mean by intrinsic and extrinsic-semiconductorS? Show that Fermi level in -

an intrinsic semiconductor lies in the middle of the forbidden gap. i [71

R

3. 3. Derive an expression for Fermi energy level in mtnnsnc semlconductors i 6]

Group B

e :ﬁe gmenual at the centre of the square of side 23 cm, lf the charges UJ.C ' 2_

w8 Adargew ‘zec of radius 0.4 m and moment ofmema L2 kg/m2, pwoted a: the centre 1s
~ fres to rotate without friction. A rope is wound it and a 2kg wexght is attached to the rope
When the weight has descended 1.5m from its starting position. a) that is its

1

velocity? D\ What is the rotational velocxt} of wheel"

LA charge particle of charge — 2x10-9C is. placed paced mrd-way between two particles of

charges +2x10-9 C and +3x10-9C. What is the net foce on it'and it and

tiate berween d‘ifferent.insﬁtator,_ s'erixiCOndLIthr and conductors:

X ,,qu,«
S -
7 _.rt

-8 Ihe energy gap Of Ge is 0 'be\f C

s
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Nlld Term EXAMINATION
CS|T — 1st SEMESTER 2017

‘_"‘.Ct")urAse' Title: [ntroductlon to lnformdtlon 'Icchnology e Pull Malks. 40
“Course Code CSC109 o o VTune: 2,[[rs e “ o I’ass Marks.]s.‘-

- Cana’tdates are reqmred to answer the questwm in tlzezr own words as far as pr actzcable

GroupA S Colimi e [2x10=20/.
el What are the different. mput devnceq uscd in compute,r systcms” Explam ol

\’)/El\plam Generatlons ol C omputem -with c,\ample features and Timeline also explam about the

: Classnfcatlon ofCompuler : ‘ S e : :
oo Group B BT e 1”'-[4;;'5-"-—,20]
"“ S K“)Nnte down the function pr0v1ded by Operatmg, system” - o ]

-5 /’Vhat are the features of odav s software? Explain brlcﬂy

g /Wnte down the common uses of Internet in today's world.

6. Explain about the memory representation and hierarchy
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MAITIGHARf KATHMANDU ;

- MID TERM EXAMINATION
B.SC. CSIT — FIRS

“FULL MARKS 40

 COURSE TITLE: DIGITAL LOGIC o
- PASS MARKS 15

‘COURSE CODE: CSC-151

Long Answer Questlons All questxons are compulsory s ‘ i 10 *2 20 iR
1. A combination of three lights is to be shown in a set sequence ata rock music: concert The s
_ three lights are red (R), green (G) and yellOW (Y) The sequence is as follows i :
a. Red only for 3 second
b. Red and Green for 1 second
c. Yellow only for 3 seconds
d. Green only for 1 second
A counter is used which consists of thre%
every second and recycles continually. 3“3 _
A logic circuit is to be built to generatg he sequence of lights. A Boolean value of. 1
represents the lights switched on. The light ;g sequences starts with red only.
Draw a truth table for the sequence of ligh ”Mth an equwalent circuit dragram i

brts (A B and C) The counter is mcremented

2. A wmd turbine must shut down when certain conditions are met. The three varrables and “
the conditions which dictate their values are shown in the table: ‘

variable ‘binary - ~condition
et value
name description : _ G
W | wind speed T wind speed = 100 kilometres per hou‘r,(‘kph)r j
0 wind speed < 100 kilometres per hour (kph)J :
=P oil pressure | oil pressure low & : e \
0 oil pressure normal L o k '
T motor ' e motor temperature 25090 oo T
| temperature S , e T e (i LG
] =20 motor temperature <50°C } /< T

1y'/\.'< # 1 i ! , / o 2 1

g

A logrc c1rcu1t is to be de51gned where the output X, is 1 1f
EITHER wind speed >= 100 kph and oil pressure normal
OR  motor temperature >= 50°C and oil pressure low
CR ] wmd speed <100 kph and motor temperature e 50°C
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Mal[lghdr’ Kathmandu: “ o
'fv Send Llp anmmahon 2018 o

IBSCCRIT

- C‘ | e S ERLAGLE STl Marks: 60 -
: Ursi TltIle Ph‘ysvrcs (Phyll3) S e N L . pd% i vl
Deruttsonr 3HRS . ‘ ' Ll e Sl .. Crbdll hours 3 ey
uratio : : et g _ :

~ Attermpt any two questions o T g e v : .' - St (2X10~=20)

What is semxconductor" Descnbes its types. Deri ve the relatlon for electron conccnlrahon m an-

~ intrinsic semiconductor. : : e [lOJ
2 Set up differential equation for an oscillation ofa spnng using Hooke s and Newton s second
law. Find the general solution of this equatron and hence the ¢ expressmns for perlod veloc:ty

and acceleration of oscillation. : i e [10] i
3 What is de- Broglle hypothesrs‘7 Explam DaVISsron Germer experlment to show clectron
“beam behave as hke a wave. . : ; St ety : [l 0]
m | Attempt any erght questrons Giarhane Lol : »’_‘ e (5X8 40)
| 4 Explam Hall effect and discuss the rmportance of Hall voltage whlle ma nufacturmg electromc
devices. ‘ ‘ (5] g
- 5. Write down the assumptlons of classical free electron model. Drscuss that how thlS model S
e o fails to explain the temperature dependence of conductivity. b : [5]‘
: L,6/Def”ne RS-flip-flop .Show that RS-flip-flop constructed by using NANDgate? = [5)

body of mass 0.1Kg is undergoing a SHM of amplitude 0.1m and period 2Sec. 1) What is the
maximum force on the body? 2) If the oscillations are produced in the sprmg, what should he
the force’ constant? ' SoEs)
8. A copper stnp 2cm wide and 1mm thick is placed in-a magnetic field of 1. ST lf a current of ZOOA
: K/éet up in the strip. Calculate i) Hall voltage ii) Hall mobility if the number of electron per. umt

Ly volume is 8.4x10%*/m’ and resistivity is 1.72x10°® Ohm-m. , (51
; %}d the energy of neutron in unit of electron in eV whose de- Broglle wave length is 1°A ( leen
< massofneutronis 1.67x107Kg). [ . : ch e fepsy

10. A macroscopic object of mass 100gm is confined to move between two r|g|d walls separated by
1m. What is the minimum speed of the object? What should be the quantum number if the :
féct is moving six times this speed? Simn e [S]-
1#7Gold is monovalent. The atomic weight and the density ofgold are l97 g,mper mole and
19. 3gm per cubic centrmeter respectlvely Calculate the number of free electrons per umt
- volume. | Lo e ,‘[5] - g :
;'5'12 The voltage across the resrstor Ri is 4. 6V in the dlagram grven below What 1s the reverse
saturatron current of the diode lf the temperature is 27OC
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cala Maltlghar Kathmandu e e
TRt Send Up EXAMINATION
CSIT it 1st SEMESTER 2018

; ‘:”'-Coursé Title: ' Introduction to [nformatlon Technology : ‘_ e Full Marks~ 60
Course COdE' CSC109 S g R Tlme°3Hrs P Pass Marks- 27

Candzdates are reqmred to answer tlze questzons in thetr own words as far as practzcable

5, o el L GroupA S b
e b Attempt any two questions. (2 x 10= 20) A
hat is operatmg system? Dlscuss dlfferent functlons of operatmg system in detall (2 < 8)

- 2,Why do we need computer network? Discuss different types of_ network topologies along with,thel‘r:smerlts:f :

: and demerits. 3 +7) £ S
7 3.’ Deﬁne DBMS and list its users. Discuss three levels of database system architeetnre m deteil."(f_",' +7) :
\ i ; Group B 7 =
Attempt any eight questions. (8 >< 5= 40)

4. DlSCUSS characterlstlcs of third generation of computers. What about fifth generation? 3+ "2)

i

5. Explain the components of CPU in brief. (5)

9

What s prlmary memory? Discuss different types of prlmary memory. (1 o+ 4)

<

\_}E’{plain different types of printers with example. (2 -3

: -:Lylvert (AF7)16 to binary. Subtract (1001101)2 from (1100011)2. (2 + 3)

: lye'ﬁ/ne IP address with example. What are the benefits of using domam name‘7 (2 + 3)
10. W at are the components of multimedia? Dichss. (5) _
i 1. Define cryptography. What are the securlty services in detall‘7 (l + 4)

12 erte short notes on: (2 x 2 5 5)

- b, Mtrusion Detection system
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SEND uP EXAMINATION
BSCCSIT i 15‘ SEMESTER 2018

Course Title: CProgrammmg han e e Bl " " i Full Marks: 60
Course Code: : CSC—llO S e L Times 3Hrs L ey T AR R PassMarks.Z']‘

‘Section A

Long Answer Questions :

: Atternpt 'zrry 2 questions. [2*10-20] : S , £ e

,)/ Def'ne pointer and list its advantages Descrl be the drfference between passmg arguments by value and passm" i

.- arguments by address with suitable program. [4+6] : ; : ‘ Sl
@I{:ne Structure and differentiate with Array? Make a program usmg structure of customc,r thlng data members

. customer rd name,quantlty, rate and amount. Enter four data and calculate amount of each customer. [3+4+3]

3. Explain various modes in whlch file can be opened? Write a program to create a file named “line. txt" and store an ;

~input lme of text into the file. Then read the file 1'Ime txt" but display only consonants {2+4+4]

Section B
Short Answer Questions
Attempt any 8 questions. [8*5=40] -

4. /Whatdo you mean by algorithm and ﬂowchart'7 Explam the Compilation and Executron of any C_ program? Rl
[1+1+3] r

5. , Define nested if else statement with suitable ﬂowchart Write a C code to check if user given ioput is exactly s

~divisible by 5 or 11 using nested ifelse statement? [2+3]

: \6/' List various binary and unary operators used in C? Write a program to find the HCF and LCM of two_p_ositiVe'
integer numbers [1+4] : e :

7. Write a program to open a file named “[NVE\ITORY DAT and drsplav followmn data as shown i 7

below: [1+e] . | | L s o
Item Name s 5ot i price : ~ Quantity 'f
A T 005 10 :

Bop lons iy 150 Ziiin9p

S S a000 e asg

D= A0 e g

/F/ 8 Wrrte syntax to declare and initialize 2 dimensional array‘? W ith surtable program lomc that searches a numbe
i alistof n mteger numbers stored in 2- dlmensronal array [l+4] ’ 7

: Mxplam the concept of recursive functron usmf—y the example

\/0/ Write a program to find product of two mamces dv

prog oram to reverse an input string. [5]
namrcally (5] e '

7 e g W o s s v w0 e e
e Wnteshort noteson [2+3] ' Coia e Leb i s

; f) Dynamlc Memory Allocatron L
u)swrtch case - Gl

Scanned by CamScanner




Sf’l* XAVII* R’s (‘()LLLGI' e
' - Maitighar, Kathmandu~ e e
Send-Up EXAMINATION fé*‘ el
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Course Title: Mathematics = kg Full Marks: 80
i ‘ ‘ o Pass Marks: 32

Courge Code: MTH-112 - Time: 3 Hrs N
5 e R . Group A ‘ - (Bx10= 30)
‘ Attempt any three questions. : : s : fenn : :
e S L= f x &=l G e
‘1. (a) A function is defined by f(x) =4 , / e e 18]
: 2ts { ;
S et ; xidifxs =1 SR NG et
Evaluate {(-3); f(- l_) and f(0) and sketch the graph; o Q, S
a0 N - e
(b) Prove that the lnmlt Py LYY does not exist. a% 2ha s by
: : : ! X : .Y \)‘ Vi : : =
L 2x? s . S ‘ :
2. (3) Sketch the curve : S ; ' o]
e ‘ X ‘ ;
- (b)Listimate the area between the curve y = e* and the linesx=0and x=1, :
: ' : : s IS

- using rectangle method. ’
4}

3. (a) Show lhat the volume of a sphere of radius r is 5” r

é_)/ﬁctme initial valucproblem Solve: xy"+xy'=1, x>0 y(l) Oand y()= 0 [6]

\_,(,Ja/ﬁnd the torsion, normal and curvature of helix curve: (2cost)i + (2sint) j +.>tk 6
(b) Find the shortest distance from the point (1; 0; -2) to the plane x + 2y + z=4 . [4] b

Group B (10 x 5=50)
k/DClermme whether each of the following functlons is even, odd, or nelther even nor odd
(a) y—x +x b)) y=1-x* (c) y= 2x— %

Define continuity of a function at a point x = a. Show that the function f(x) = 1 J1=x2

6.
k/lsccontmuous on the interval [-1, 1].
- < Verily the Rolle’s theorem for f(x) —6x+2 in [0, 3].
Find the third approximation x; to the root of the equatlon f (x)

8/
settmg X = 2

' valuate jxe dx

x {_6x—,5

-0

S ';10 F Yind the volume of the sohd obtamed by about Y axns the reglon between y V x and
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SEND up EXAMINATION e
B SC CSIT e FIRST SEMESTER 2018

CourseTltle-Dlgltal Loglc‘ S R L i .‘- FullMarks 60

- Course Code: CSC-111 e Pass\Marks..Z«;
'Lothxiswer Questions (Attempt any 2) Mooy S 10 *2 20

nte about the Master Slave FF usmg JK lep ﬂop w1th necessary explanatxons

2 Def‘ne counter. Explam the operation of a synchronous decade counter with the help of its. log;c
dxagram Also draw the tlmmg diagram rcfemng to the state sequence and state dlagram :

3. onsider an input sequence 01010110100 starting from the mmal state a. [ntroduce a state 5y
reduction strategy to minimize the number of states in the above state dlagram Also assxgn any
ar bxtrary binary state values to represent the reduced state table.

0/0

X
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‘;hox t Amwer Questlons. (Attempt any 8)

4 Desxgn dnd explam a 4-bit nngmtude comparator c:rcuxt

5.' i. (,omru‘t (F ADE 456)15 to dec1ma1 number system el o ;
‘ UATA '2? and B = 34 repx esent them in Bmary and perfot m A B usmg 2 s complement
b_ Mumon the dxfterent types ofshlft reglsters and explam senal in se1 1al out transfer of d'xta when

data=1001. ‘ _ 2 '_ , e
(//Desmn a cir Clllt whxch produces 2 s complement of the glven four -bit bmary dlglt
8 Deslgn a Decimal AddEI circuit and explam its workmg mechamsm in brlef

- \'9/15\[)1‘11:1 the operatlon of PLA using your own desrgn of any PLA

{_10-What is a decoder? Implement the followmg minterms usmg decoder; :
a. F(wxy2)=2(0,13489,10) e A
b; Flwxy.2)= 2(1356111314) '

i éi}eﬁén a circuit that produces the square of three-bit number usingROM.

12. Analyze the followmg clocked sequential c1rcu1t derlvmg the equatlon of next states for DO D1‘ :
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